Problem 14-13

1. PV factor = 136700 / 25000 = 5.468

เปิดตารางที่ 4  PV of annuity   ที่เวลา 14ปี   พบว่า factor 5.468   จะตรงกับ   IRR = 16%
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The reason for the zero net present value is that 16% (the discount rate we have used) represent the machine's internal rate of return. The Internal rate of return Is the rate that causes the present value of the project cash inflow to just equal the present value of the invesment required.
3. If annual cost saving = 20000

        PV factor = 136700 / 20000 = 6.835

เปิดตารางที่ 4  PV of annuity   พบว่าที่เวลา 14ปี   factor 6.835  อยู่ระหว่าง   IRR = 11 - 12%

ถ้าให้ตอบค่าใกล้เคียงที่สุด คือ IRR = 11%

แต่ถ้าต้องการหาค่าละเอียด  สามารถทำได้ดังนี้
  ค่า factor 11% = 6.982         12% = 6.628

   


  factor ต่างกัน 0.354         

   IRR ต่างกัน

1


ดังนั้นถ้า factor ต่างกัน (6.982 - 6.835) = 0.147               IRR ต่างกัน             0.147 / 0.354 = 0.415

ดังนั้น ถ้า PV factor เท่ากับ 6.835            IRR = 11.415%
Problem 14-16
จากโจทย์       
outflow:        
machine investment

90000     for 8year





maintenance cost

14000 per year




    
overhaul


7500  at the end of year 5



inflow:

save cost


35000  per year





contribution margin

3000 per year (5000 x 0.6)





ราคาซาก


6000  at the end of year 8

1. net annual cash inflow

= 35000 - 14000 + 3000 = $24,000

2.





year

cash flow
16%factor
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1
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12,516
